
ANSWERS TO END-OF-CHAPTER QUESTIONS

A Note about the Answers


The following answers are meant as guides to answering the end-of-chapter questions, not as definitive answers. The same questions often have many answers; this is especially true of policy-oriented questions. Although we have tried hard to see that mistakes are eliminated, the reality is that as in any human endeavour, mistakes are inevitable. 

Since different individuals have different ways of answering questions, you might see some differences in the approach to answering the same questions. These differences will likely be useful since your students will likely offer many variations on the answers. The reality is that many questions can be answered in different ways. 


Answers to the web questions, in particular, may have answers that differ over time. The advantage of a web site — that it can be easily changed — is a disadvantage when you are basing questions on that web site. If a particular URL mentioned in the question is no longer live or no longer has the answer to the question, encourage your students to search the Internet for other sites with information that can be used to address the question.



Despite our best efforts, there may still be a few mistakes in the answers. If you have checked and double-checked your answer and it is different from that found here, assume that our answer is wrong, not yours. If you do come to a different answer, or think an answer misses an important aspect of the questions, please check for corrections at the Internet site to see if the answer has changed. If you don’t find it there, please e-mail one of us and we will check to see whom we think right. If we think you are we will post the change on the Internet site named “Corrections”, together with your name and a thank-you. 

Chapter 1: Economics and Economic Reasoning

Questions for Thought and Review

1.
The decision to go on strike or go to war must weigh the costs and benefits. If the benefits (higher wages, gain of territory and resources) outweigh the costs (foregone income during the strike, loss of life and resources), economics recommends pursuing the action. While strikes and wars are obviously unpleasant, they may make economic sense.

2.
The responses to this question will be varied since it asks individual students about choices made by them. In these responses students should be encouraged to consider all the costs and benefits, and to be clear about the concept of the marginal costs and marginal benefits.

3.
Regretting a decision doesn’t mean that we did not use the economic decision rule when making the decision. At the time the decision was made, we weighed the marginal costs and marginal benefits, undertaking the activity if the marginal benefits exceeded the marginal costs and not undertaking the activity if the marginal costs exceeded the marginal benefits. Many decisions are made without knowing the full marginal costs and marginal benefits. Sometimes these marginal costs and marginal benefits are revealed at a later date that makes us regret having made the initial decision. An example is going out to a restaurant. From recommendations, we assume that the marginal benefit is one thing. If that recommendation overstates our actual experience, we will have overestimated the marginal benefit of eating out. We may regret having spent the money to eat out.

4.
The opportunity cost of buying a $20,000 car is the benefit we would have gained by spending that $20,000 elsewhere or the benefit of having it in the bank, earning interest.

5.
Three ways (among many) that dormitory rooms could be rationed include: administrative decree, lottery, and a market system. In the first, individual behaviour would be forced to fit the will of the administrator. Individuals would likely complain and try to influence the administrator’s decision. In the second, individual behaviour would be forced to fit the luck of the draw; individuals would likely attempt to trade rooms after the draw. In the final example, individual behaviour would have already been subject to economic forces, and thus, there will be no tendency to trade after one has “bought” the room one can afford.

6.
Two examples of social forces are our unwillingness to charge interest to friends, and our unwillingness to “buy” dates with other people. These issues are still subject to economic forces; however there is no market in “dates” or in loans to friends, and hence the economic force does not become a market force.

7.
Two examples of political or legal forces are rent control laws and restrictions on immigration. They both prevent the invisible hand from working. The rent control laws causes shortages in apartments, and the immigration restrictions cause the number of immigrants seeking entry to exceed those allowed to enter, which tends to cause wage rates to differ among countries.

8.
An economic model is a framework that places the generalized insights of the theory in a more specific contextual setting. Policy makers need to understand the empirical evidence supporting the theory as well as real-world economic institutions to make policy recommendations.

9.
No; economic theory proves nothing about what system is best. It simply tells us ways of looking at systems, and what the advantages and disadvantages of various systems will likely be. Normative decisions about what is best can only follow from one’s value judgments.

10.
Two microeconomic problems are the pricing policies of firms (price fixing in particular) and how wages are determined in resource markets (why do athletes and celebrities make so much money anyway?). Two macroeconomic problems are unemployment and inflation.

11.
Schools are economic institutions; they significantly influence economic decisions. Where you attend school has a role in your future employment. 

12.
What is a good economist? No one can ever be completely objective, even some of the time. Sometimes the best we can hope for is to be aware of the cultural norms and value judgments that influence our views and decisions.

Problems and Exercises

1.
The marginal costs are the additional costs. They are 15 cents per km above 150 km plus the cost of gas. The initial payment can be forgotten because it is a sunk cost; it is not part of marginal costs.

2.
a.
The opportunity cost of attending college is the sacrifice one must make by attending college. It can be estimated by figuring out the benefit of the next-best alternative. If that alternative is working, one would guess the likely wage that could be earned at a job that does not require a college degree (minimum wage? more?) and then multiply by 40 hours for each week in college.


b.
The opportunity cost of taking this course could also be estimated using the same technique as in 2(a) if you otherwise would be working for these hours. If you had taken another course instead, the opportunity cost would be the benefit you would have received from taking that course.


c.
The opportunity cost of attending yesterday’s lecture again would depend on what you otherwise could have done with the time (sleep? eat lunch with an interesting person?). Although this is no longer a choice to you, past activities do have opportunity costs.

3.
The person who gains the kidney benefits if it works when transplanted into his or her body, and will no longer have the emotional and financial burden of dialysis. The person selling the kidney gains the $30,000. Their gains will also have impacts on others (their families, for example). Both parties must undergo surgery and face all of the attendant risks and costs. The seller also faces the potential cost of a future illness or injury harming his or her only remaining kidney causing a need for the seller to need dialysis. As to whether a society should allow this transaction, we must recognize that this is a question of value judgments and cultural norms. In our society we have chosen not to allow such transactions because (among other reasons) those with more money would have increased access to organs and would therefore have advantages over those of limited means, and the poor could be exploited in such transactions.

4.
Assuming who pays for dates reflects supply and demand considerations and assuming that the majority of the Chinese are heterosexual, this suggests there will be a shortage of women, and thus men will be paying a higher percentage of the cost of dates in the future.

5.

Sunday shopping is an institutional feature that depends on political and legal forces. Some areas disallow Sunday shopping as a result of concerns over the family and faith.  Some areas are forced to allow shopping because other geographic areas allow Sunday shopping, and to make it illegal would penalize local firms.  So, economics might help explain why Sunday shopping is allowed, but there’s more to it than can be purely explained by economics.

6.
a.
In this exercise students are asked to obtain prices on a litre of milk from a supermarket and a convenience store.

b.
Most likely, the price in the convenience store is higher. Students should be able to explain that someone will buy milk at a higher price because it is easier to purchase it at that store or that the store may be the only source at a given point in time.

c.
When the same exercise is done with clothing in different stores, students should recognize that unlike milk (which is a standardized product), clothes come in different brands, types, and perhaps quality.

7.
Cultures differ; what works in one culture may very well not work in another culture.

8.
a.
Positive statement since it is a statement of fact.


b. 
Normative.


c. 
This could be seen as a positive statement since it is a statement of fact, although since it deals with normative issues, it could also be interpreted as a normative statement.


d. 
Since this is relating a normative goal with a decision, this could be  seen as a normative statement if one interprets it as a normative imperative.


e. 
Positive statement since it is a statement of fact.

9.
The Theory of Moral Sentiments emphasizes the invisible hand, social forces and political forces. The invisible hand directs people’s selfish desires (tempered by the social and political forces) to the common good but is based on certain presuppositions about the morality of individuals. What he is suggesting is that the marginal cost and marginal benefit used by individuals must be interpreted broadly to include individual’s perceptions of social costs and benefits as opposed to a narrow view to include only individual costs and benefits.

Web Questions

1.
Students’ answers to this question will vary. Here is an example. Quantitative economist, executive secretary, WTO unit advisor to Egypt, financial analyst, marketing executive, web ad sales manager, project manager, etc. CSIS is offering a job to an economist that would analyze foreign economies, international trade, international finance, etc. General Electric is offering a job to an economist with responsibilities that include developing pricing and quantitative market models for General Electric.

2. Students’ answers to this question will vary. For example, the government might allow smokers to claim medical expense deductions from the cost of trying to quit smoking. The purpose of this legal force is to try to get more people to quit smoking by giving them an economic incentive to do so. This program does not keep economic forces from becoming market forces. Instead, it uses market forces to achieve an objective.

3.
Students’ answer to this question will vary.



a.
A map is similar to an economic model because both provide a way of understanding relationships among variables, but are not specific. Both must be combined with additional knowledge to apply to the real world. Maps need to be combined with landmarks and traffic 



indicators to travel. Economic models need to be combined with a knowledge of economic institutions to make policy recommendations.


b.
A limitation of maps is that they cannot provide every detail of a town such as important landmarks, crosswalks, or the address of a specific person.


c.
The map we used was not topographic, so we could not use it to determine elevation change. It did have a legend and so, we could estimate distances. It did not indicate traffic speeds. This suggests that if we wanted to estimate travel time accurately, we might have difficulty. This suggests that the map or model chosen needs to fit one’s purpose. If we wanted to estimate the time it would take to hike a mountain, for instance, having a topographic map would be more important.

Appendix A
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1.

See graph on the right. 
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2.

See graph on the right. 

a.
The relationship is non linear because it is not straight. It is curved.

b.
From 0 to 5, cost declines as quantity rises (inverse). From 5 to 10, cost rises as quantity rises (direct).


c.
From 0 to 5, the slope is negative (slopes down). From 5 to 10, the slope is positive (slopes up).
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The slope between 1 and 2 units is the change in cost (30-20) divided by the change in quantity (1-2), or -10.

3.

See graph on the right.

4. 
a.1


b. -3

c. 1/3

d. -3/4

e. 0

5.
a. C

b. A, E

c. B,D

d. B is a local maximum; D is a local minimum

6. 
a. line graph
b. bar graph
c. pie chart
d. line graph
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Chapter 2: The Economic Organization of Society

Questions for Thought and Review

1.

The problems that any economic system must solve are: What to produce?; How to produce it?; For whom to produce?

2.

A market economy solves the three problems through markets and the system of rewards and payments. What gets produced is what businesses believe can be sold. How it gets produced is determined by businesses; generally they choose the method that makes the largest profit. Those who are willing to pay for the goods will get them. Thus, supply and demand determine what, how, and for whom to produce.

3.

A command economy solves the three problems by using administrative control. Central planners decide what to produce by what they believe is socially beneficial. Central planners decide how to produce guided by what they believe is good for the country. Central planners decide distribution based on their perception of individual’s needs.

4.

The answer to this question requires determining what is meant by better. Economics can explain how each system functions and explain how efficient each is, but economics does not provide an answer to normative questions without imposing normative judgments.

5.

Markets have little role in most families. In most families, benevolent parents usually make decisions about who gets what. A market economy encourages competition and expects people to be selfish. Thus a communist organization seems more appropriate to a family and a market organization to a large economy where love doesn’t hold the social unit together.
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6.

The grade production possibility curve on the right embodies the principle of increasing marginal opportunity costs. The table is presented below. Notice that the amount of points lost on the History grade for each 10-point gain in the Economics grade steadily increases.
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Economics
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7.

If there were decreasing marginal opportunity costs, the production possibility curve would be convex with respect to the origin instead of concave. This means that (in terms of the example in the text) we would gain more and more guns for every pound of butter we give up. An example of this is found in a situation in which practice makes perfect; i.e., smaller and smaller numbers of hours devoted to a task, or sport, will result in bigger and bigger gains in performance.
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8.

In the figure to the right, wadget production is measured on the vertical axis and widget production is measured on the horizontal axis. If the society becomes more productive in its output of widgets, it can produce more of them, and the end point of the curve on the horizontal axis will move to the right, as shown. If the society is also less productive in its production of wadgets, the end point on the vertical axis will move down, as shown. The result is a new production possibilities curve.

9.

The theory of comparative advantage underlies the shape of the production possibility curve. By taking advantage of each person’s comparative advantage, higher total output can be reached than if each produced on his or her own, or if each produced goods where they did not have a comparative advantage. As more and more of a good is produced, resources that have less of a comparative advantage are brought into the production of a good, causing the production possibility curve to be bowed outward.

10.

This statement is true or false depending on the implicit assumptions made in the analysis. It is true since individuals will eliminate all inefficiencies they see through trading. It might be false if everyone does not know all the benefits and the inefficiencies and do not have the opportunities to correct the inefficiencies.

11.

The switch would cause their production possibility curve to shift in because the transition takes major institutional changes. For the transition to work, the foundations of markets such as property rights must be quickly established and enforced.

12.

Politicians are primarily concerned with their constituents — especially those who organize, vigorously complain, and play a role in determining who gets elected. Trade benefits consumers as a whole while trade often hurts individual groups (workers in those industries that face increased competition). Even though the hurt to the individual groups may be less than the benefit to the whole, often these individual groups are more vocal than are consumers as a whole, which is why some politicians oppose actions to promote trade.

Problems and Exercises

1.
a.
Students are asked to do library research on Poland, Bulgaria, and Hungary.

b. 
Students are asked to examine the changes in those countries, and to consider the roles of markets, politics, and social and cultural tradition.

2.
a.
The fact that more money is spent on adults than on children in the family does not imply that the children are deprived or that the distribution is unfair. Children and adults have different needs. Moreover, it is the parents who earn the money, so it is only through their beneficence, and requirements of law, that they provide for their children at all.

b.
Yes, these percentages probably change with income. The lower the income, the larger the percent of total expenditures spent on children. The reason is that most families want to provide a basic level of needs for their children. It is the distribution of luxuries that many families feel should not be given to children until they have learned how to work for them themselves.

c.
Our suspicion is that the allocation would not be significantly different in communist countries as compared to market countries. If, however, the average income in communist countries were lower, the percentage of total expenditure spent on children might be higher as described in 2(b).

3.
a.
Innovation requires a certain level of freedom of thought and a possibility of profit-making from the innovation. Neither was the case with communism. Government planners directed production with income based on need so workers had neither the freedom nor the incentive to innovate.

b.
Both freedom and the possibility of profit making from innovation in market countries provide the means and incentives for innovation.

c.
Schumpeter’s argument was based on the idea that profit-making by innovators was necessary for innovation to occur. As firms become larger, however, the individual ceases to become the direct beneficiary of his innovations.

d.
Since his predictions did not materialize, one must believe that either firms have been able to create incentive structures to foster innovation or some other venue for innovation has arisen. Firms have large research and development departments designed to promote innovation. In addition, individual innovators have been able to raise enough capital to start their own smaller companies to profit directly from their innovations. In Canada there has been enormous growth in the number of small firms as they attempt to do just that. The federal government has been a large motivator of innovation through subsidies to basic research at universities and through support of military innovations, both of which have large spillovers into private industry.
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4.
a.
See the figure on the right.

b.
As the output of food increases, the marginal opportunity cost is increasing. To illustrate, giving up 4 of clothing (from 20 to 16) results in a gain of 5 food (from 0 to 5), but giving up another 4 clothing (from 16 to 12) results in a gain of 4 food (from 5 to 9), and this pattern continues.

c.
If the country gets better at producing food, the endpoint of the production possibilities curve on the horizontal axis will move to the right.

d. If the country gets equally better at producing food and clothing, the endpoint of the production possibility curve on the horizontal axis will move right, and the endpoint of the production possibility curve on the vertical axis will move up by the same proportion.
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5.
a.
See the figure on the right. The PPC for this country alone is the innermost curve.

b. 
The combined PPC without trade is the next to the furthest line in the graph on the right.

c.
If they take advantage of their comparative advantages, the PPC curve becomes slightly more bowed out. This is the line furthest from the origin on the graph to the right.

6.
a.
A Toyota in Canada costs 4/3 Chevrolets, while in Japan a Toyota costs 2 Chevrolets.

b.
Japan has the comparative advantage in producing Chevrolets.

c.
Since Japan has the comparative advantage in producing Chevrolets, it should produce Chevrolets and Canada should produce Toyotas, regardless of the fact that Canada demands more Chevrolets than Toyotas.

7.
The fact that lawns occupy more land in Canada than any single crop does not mean that Canada is operating inefficiently. Although the cost of enjoying lawns is not included in GDP, lawns are nevertheless produced consumption goods and are included in the production possibility curve for Canada. The high proportion of land devoted to lawns implies that Canada has sufficient food that it can devote a fair amount of land to the production of goods for enjoyment such as lawns.

8. Following the hint that society’s production possibility curve reflects more than just technical relationships, we realize that trust is an input to production to the extent that it is necessary for transactions. If everyone could fake honesty, the production possibility curve would shift inward since no one could trust anyone else leading to the disintegration of markets. If some could fake honesty, those few will gain at the expense of others. This is an example of the tragedy of the commons.

9. a.
The production possibilities curve appears below:
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b.
The opportunity cost of a Thingamabob is not constant.  We can see this because the production possibilities curve is not a straight line.

c.
The opportunity cost of a Thingamabob is given by the number of Whatsits that must be given up to produce one more Thingamabob.  Between points A and B, output of Whatsits falls by 2 units whereas output of Thingamabobs rises by 6 units, so the opportunity cost of a Thingamabob is 1/3 =(2/3) Whatsits. 

Between points B and C, the opportunity cost of a Thingamabob is (2/5) Whatsits.  Between points C and D, the opportunity cost of a Thingamabob is (2/4) Whatsits, and between points D and E, the opportunity cost of a Thingamabob is (2/3) Whatsits.  Finally, between points E and F, the opportunity cost of a Thingamabob is 1 Whatssit (2/2).

We see that as we produce more and more Thingamabobs, the opportunity cost of producing one more rises. Some inputs are meant to be used producing Whatsits — and as we take more and more of them away to produce additional Thingamabobs, we get progressively fewer and fewer units of Whatsits produced.

10.
a.    The new production possibilities curve will be shifted to values twice their original levels.

b.
Opportunity costs have not changed, since production of both goods has increased by the same proportion. 

c.   Between points A and B, production of Thingamabobs would rise from 0 to 12, while Whatsits production would fall from 20 to 16.  The ratio remains (4/12) = 1/3.  Subsequent calculations show the same values as in 9 (c).

11.
a.
The production possibilities curve appears below
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b. Yes, opportunity cost is not constant, since the curve is not a straight line. Some resources are best used in the production of one good so as more and more of them are taken from the production of that good and used to produce the other good, less and less of the other good is produced.

c. Between points A and B, the opportunity cost of a Dohickie is 2 Thingies (140/70=2). Between points B and C, this rises to 3 Thingies (210/70=3). Between points C and D this rises to 4 Thingies (280/70 = 4). Between D and E, it rises to 5 Thingies (350/70 = 5). Yes, opportunity cost is not constant!

d. We can simply take the reciprocals!

e. Opportunity costs between E and D are 1/5; between D and C, ¼. Between C and B, 1/3, and between B and A, ½.  We can see these rising as more and more Thingies are produced.

Web Questions

1. In the 1930s, government intervened very little in the market. During the Depression, however, as many people became unemployed and needed assistance, the role of government expanded and capitalism’s evolution toward welfare capitalism began. In the late 1990s, there have been proposals to privatize portions of the system, giving workers more say about where their money is invested. This moves the pendulum away from welfare capitalism and toward more pure capitalism.

2.
Luckily this quote appears near the top of the web page most students will find, Book I, Chapter II.   The division of labour is limited by what Smith called the Extent of the Market.
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Chapter 3: The Canadian Economy in a Global Setting

Questions for Thought and Review

1. 

An economy depends upon coordination and the mechanisms of coordination depend upon people. What is considered a resource depends on technology, and people develop new technologies. It follows that the economy’s ultimate strength resides in its people.

2.

Consumers decide what goods they want, and demonstrate their decisions in their willingness to pay for the goods. Businesses decide what to produce, but their decisions reflect consumer desires. Thus, there is no contradiction. Advertising, in which businesses attempt to influence behaviour, if successful, does, however, mediate the principle of consumer sovereignty.

3.

Business is dynamic; it involves meeting new problems constantly, recognizing needs, and meeting those needs in a timely fashion. These are precisely the skills of entrepreneurship.

4.

The two largest categories of federal expenditures are social spending and debt charges.

5.

The answer to this question depends on what you mean by importance. Using standard measures that relate importance to international power, this statement is inaccurate or at least misleading. Most classifications of countries are based on the total output or production, but even these statistics do not necessarily capture a nation’s importance or the strategic role it plays in the world economy. Knowledge of economic geography is needed to assess a country’s importance to the world economy. Area and population are two useful indicators of a country’s potential, but they need to be quantified and assessed.

6.

Two ways in which international trade differs from domestic trade are (1) countries use different currencies, and (2) flows of people, goods and capital can be more easily restricted between countries.

7. 
About 1.49 dollars. 

8.

The United States has been running a trade deficit since the mid-1970s and it increased substantially in the late 1980s, declined somewhat in the early 1990s and rose to record highs in the late 1990s and early 2000s.  Recent highs are the result of a strong U.S. economy. Thus while this is a matter of considerable concern, suggesting that the United States economy is “falling apart” because of it seems like an exaggeration. It could also be seen as a case of foreigners believing in the United States and wanting to buy United States’ assets.

9.

Most economists oppose trade restrictions because, even though such restrictions are likely to decrease a trade deficit in the short run, they also have negative effects on the economy that work in the opposite direction. One negative effect is that they reduce domestic competition. A second is that they likely will bring about retaliatory trade barriers. If all countries erect trade barriers, everybody will be made worse off.


10.

GATT is the predecessor of the WTO.

11.
a.
Based on the exchange rates in the table, one Egyptian pound is worth $0.3473  The reciprocal of this is 2.8794, so $100 would buy 287.94 Egyptian pounds.


b.
The car would cost approximately $36,147.

Problems and Exercises

1.

This exercise asks students to gather information about the limitations on businesses of different types in their communities. They are then asked to make judgments as to whether the limitations were necessary (are they clear about the goals involved?) and whether the number of limitations is correct. The information is linked to the text’s material in part d. Part e asks students to learn about business taxes in their communities, and part f has them gather a sense of business satisfaction.

2.

Part a asks students to identify targets in their communities that if exploded would disrupt the economy. The phone system is an example.  Part b asks how the terrorist activity could be countered.  An example would be to send your police force to protect the central phone offices. Part c asks them to establish a plan to cope with a successful attack. An example would be to set up an alternative communications system through cellular phones.

3.
a.
Such an idea could be expanded to include college courses, but that is unlikely to happen because the quantity of college courses demanded would decline as people substitute toward taped lectures. Substitution, however, is not perfect since videocassettes cannot provide the interaction between student and instructor or among students. Social forces would act against the movement away from college class instruction even if the invisible hand pressed action toward it.

b.
Technical problems are virtually nonexistent. Tapes are easily made and VCRs are available cheaply. Socially, the problems are substantial. A diminishing role of the university would significantly change its role of providing a focal point for intellectual discussion and discovery thus changing the nature of education. There would be great social pressures to maintain this role of colleges. The economic issues are substantial. A course could be taught once and used over a period of years. This would reduce the demand for professors and create revenues for certifying agencies that would regulate the distribution and quality of the tapes.

c.
Even though the program is technically possible and cost efficient, it will not necessarily be a success because social forces will play a major role in limiting the market. Social forces are not weak. 

4.
a.
Brazil: coffee, metallurgical products, chemical products, foodstuffs, iron ore. Honduras: bananas, seafood, coffee, lumber, meat, metals, sugar. Italy: textiles, clothing, metals, transport equipment, chemicals. Pakistan: rice, cotton, textiles. Nigeria: oil, cocoa, palm products, rubber. 


b.
The world’s leading producer of tin ore is Brazil. The world’s leading producer of wheat is China.

5.

This exercise asks students to investigate local businesses and their involvement in international trade, and to apply what they have learned to make recommendations as to business strategy. Part c asks them to investigate what products are and are not made in the United States, and to relate those findings to their knowledge of economic geography.

6.
Check the table in the book.  Recent exchange rates will likely differ so be prepared for different answers.

Web Questions

1.
a-d. The answers here will change year by year. Check the TSX website for more information on up-to-date figures

2.
a-d
 The Department of Finance webpage contains useful information including the answers to  these questions — check out www.fin.gc.ca for up-to-date data.

3.
a-c  The Bank of Canada’s website  www.bankofcanada.ca contains daily data on exchange rates  and interest rates as well as monthly data on monetary aggregates and prices.  Check the website for the Bank’s currency calculator!

4.
a.
The World Bank is an international organization that offers loans, advice and other resources              to developing countries.

b.
The World Bank’s goals for the new millennium are to help the poorest countries reduce debt burden, fight corruption that hinders growth, help developing countries improve communication technologies, improve banking systems, assist countries meet food needs, and ensure development that meets the social and cultural needs of countries.

c.
Three-fourths of the World Bank’s funds are obtained by the International Bank for Reconstruction and Development by selling AAA-rate bonds in the financial market.

d.
East Asia and Pacific and Latin America and Caribbean receive the largest loans from the World Bank.

5. a.
The World Trade Organization (WTO) is the only global international organization dealing with the rules of trade between nations. At its heart are the WTO agreements, negotiated and signed by the bulk of the world’s trading nations and ratified in their parliaments. The goal is to help producers of goods and services, exporters, and importers conduct their business. 

b. Ministerial conferences of the WTO are held every two years. The last meeting as of the writing of this manual was held in Cancun in 2003. A meeting is forthcoming in Hong Kong at the end of 2005.

c. Not yet available, but can be found on the WTO website.

d. Most recent figures can be found at 

http://www.wto.org/english/tratop_e/region_e/regfac_e.htm
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Chapter 4: Supply and Demand

Questions for Thought and Review

1.

The law of demand states that quantity demanded falls as price increases; or alternatively, that quantity demanded rises as price falls. Price is inversely related to quantity demanded because as price rises, consumers substitute other goods whose price has not risen.

2. The law of supply states that quantity supplied rises as price increases; or alternatively, that quantity supplied rises as price rises. Price is directly related to quantity supplied because as price falls, suppliers substitute other goods whose price has not fallen.

3. Four shift factors of demand are income, price of other goods, tastes, and expectations. As income rises, demand increase. As the price of other substitute goods rise, demand increases. As tastes change to favour a particular good, the demand for that good increases. If people expect the price of a good to fall in the future, demand will fall now.

4.
A change in the price causes a movement along the demand curve, a movement to a new point on the same curve. A shift in the demand curve means that the quantities will be different at all prices; the entire curve shifts.
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4. See the graph on the right. The correct line is the demand curve labelled “individual.”

6.

See the graph above. The correct line is the demand curve labelled “market.”

7.

Saying that supply increases means that the curve has shifted to the right, which is not the result of a price change. The correct statement is that, normally, as price rises, the quantity supplied increases.

8.

Shift factors of supply include the price of inputs, technological advances, changes in expectations, and taxes and subsidies. As the price of inputs increase, the supply curve shifts to the left. As technological advances are made that reduce the cost of production, the supply curve shifts to the right. Taxes paid by suppliers shift the supply curve to the left. Subsidies given to producers shift the supply curve to the right. 


[image: image5.wmf]Quantity

Price

10

20

30

40

50

27

37

47

57

67

Market

supply


9. 

Add the quantities supplied at each price level to find market supply. See the graph on the right.
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10.

In the graph on the right, the demand curve has shifted to the left, causing a decrease in the market price and the market quantity. 

10. If price and quantity both fell, the simplest cause would be a shift of the demand curve to the left.

11. If price fell and quantity remained constant, a possible cause would be a shift out of the supply curve and a shift in the demand curve to the left. Another possibility would be a shift in the demand curve with a vertical supply curve.

Problems and Exercises
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1.
a.
The market demand table is:



Price
Market Demand


2 
64


4 
56


6 
44


8 
36


10 
28


12 
20


14 
12


16 
8


b.
See the graph on the right of the table.


c.
At the market price of $4, the total market demand is 56. If the price rises to $8, the total market demand will fall to 36.


d.
All of the curves will shift to the right. 
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2.

The following results are shown in the graph on the right.

a.
The bad weather causes a decrease in supply. This is shown by a shift in supply from S0 to S1. Equilibrium price rises from P0 to P1 while equilibrium quantity falls from Q0 to Q1.

b.
The medical report causes a decrease in demand. This is shown by a shift in demand from D0 to D1. Equilibrium price falls from P0 to P2 and equilibrium quantity falls from Q0 to Q1.

c.
The innovation causes an increase in supply. This is shown as a shift in supply from S1 to S0. Equilibrium price falls from P1 to P0 while equilibrium quantity rises from Q1 to Q0.

d.
The drop in income causes a decrease in demand. This is shown by a shift in demand from D0 to D1. Equilibrium price falls from P0 to P2 and equilibrium quantity falls from Q0 to Q1.
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3.
a.
The points plotted are a combination of market equilibria (assuming markets that clear) which may be the result of shifts in demand and supply curves. It is neither a demand nor a supply curve.

b.
To determine whether they are points on a demand or supply curve, we need to know what is held constant. If shift factors of supply are held constant and income, tastes, and other shift factors of demand allowed to vary, then this maps out a supply curve. If the reverse were true, then the points map out a demand curve.

c.
If we know these prices are set by suppliers allowing the quantity to vary, we know these are points on a shifting demand curve.

d.
Since quantity increases almost consistently every year, the equilibrium points may be the result of shift factors such as income, increased availability of tapes, or changes in tastes toward use of VCRs. Once these shift factors are accounted for, one could expect that these points are on a demand curve shifting to the right. 
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4.
a.
We would expect wheat prices to decline since the supply of wheat is greater than expected. Wheat commodity markets are very competitive, so the initial 35 percent increase was already reflected in the current price of wheat. It is only the additional 9% increase that will push down the price of wheat.


b.
This is graphically represented by a shift to the right in the supply of wheat as shown to the right.

5.
a.
The size of cars in Italy is most likely much smaller than in Canada. Italians would be driven to conserve gasoline and thus demand smaller cars that use less gasoline.

b.
As in (a), Italians will want to conserve gasoline more and thus use public transportation more than Canadians use it.

c. As in (a) and (b), Italians will be more concerned with fuel efficiency in their desire to conserve gasoline since it is relatively more expensive there. Raising the price of gasoline in Canada to $2 per litre will decrease the size of cars driven in Canada, increase Canadian use of public transportation, and increase the fuel efficiency of cars purchased in Canada.

Web Questions

1.
Canada can expect to see an aging population.

a.
The effect of these demographic shifts will increase the demand for nursing homes. The quantity of nursing homes supplied will rise as will their price. 

b.
The demand for prescription drugs will shift to the right as the number of elderly increase and need drugs to address their health needs. The quantity of prescription drugs supplied will rise as will their price.

c.
The demand baby high chairs will also rise, but not by as much as the increase in products demanded by the elderly. The quantity of high chairs supplied will rise as will their price.

d.
The demand college education will also rise, but not by as much as the increase in products demanded by the elderly. The quantity of college degrees supplied will rise as will their price.

2.

The answers to these questions will depend upon the current outlook and what issues are topical. The answers given here should be used as a guide.

a.
The weather and economic growth are mentioned as factors that will affect demand. Winter is expected to increase the demand for energy products. Economic recovery is  also expected to increase the demand for energy products. Development expenditures and coordinated production cuts are mentioned as factors that will affect supply. Reduced development expenditures and coordinated production cuts are expected to reduce the supply of oil.
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b.
World oil prices are forecast to be $1 to $2.50 higher than previously estimated. This is consistent with a shift to the right in demand and a shift to the left in supply as shown on the right.

c.
Higher crude oil, an input to the production of gasoline, will reduce the supply of gasoline and increase its price. As summer ends, the demand for gasoline will decline and put downward pressure on gas prices. The net effect is a decline in the near term, but a rise in the future. Higher crude oil will reduce the supply of home heating oil and a colder winter will increase demand. Both will work to increase the price of home heating oil. Gas is a substitute for oil. As the price of oil increases, the demand for gas will increase. This will lead to higher natural gas prices in the near term.

3.
a.
Alberta has no provincial sales tax.  The answer to which province has the highest sales tax will change over time as provinces change their rates.

b. Sales taxes paid by producers increase the cost of production and shift the supply of goods to the left. Equilibrium price rises and quantity falls as shown in Figure 5-7 in Chapter 5.

c. Alberta and B.C.  are an example.  This reduces the quantity of goods purchased in B.C.. The demand for goods in Alberta shifts to the right and equilibrium quantity sold rises.
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Appendix A

1.
a.
The tables are shown below:


Price
Quantity Demanded
Quantity Supplied
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(dollars
(litres per year)
(litres per year)


per litre)


0
600
-150


1
500
0


2
400
150


3
300
300


4
200
450


5
100
600


6
0
750


b.
The graph is shown on the right.


c.
P=3; Q=300

2.
a.
The new tables are shown below:


Price
Quantity Demanded
Quantity Supplied


(dollars
(litres per year)
(litres per year)
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b.
See the graph above.


c.
P=2.5; Q=350


d.
This would cause a disequilibrium with quantity supplied of 350 greater than quantity demanded of 300.

3.
a.
The demand curve is QD = 17-4P; the supply curve is QS = 4P -1. To solve for equilibrium price and quantity, set the two equations equal and solve for P. Substitute P into either to find equilibrium quantity. The solution is P = $2.25, Q = 8.

b.
The new demand curve is 19-4P. To solve for equilibrium price and quantity, set the two equations equal and solve for P. Substitute P into either to find equilibrium quantity. The solution is P = $2.50, Q = 9.

4.
a.
A demand curve follows the formula, QD = a - bP, where a is the price-axis intercept and b is the slope of the curve. A shift in demand is reflected in a change in a.  An increase in demand increases a and a decrease in demand reduces a.


b.
A supply curve follows the formula, QS = a + bP , where a is the price-axis intercept and b is the slope of the curve. A shift in supply is reflected in a change in a.  An increase in demand increases a and a decrease in demand reduces a.

c.
A movement in supply or demand is reflected in the effect of a change in P on either QS or QD.

5.
a.
P=3; Q=300

b. Since the government set price is above the equilibrium price, it is a price floor. Thus it would create a surplus. Solving the equations, we see the surplus would be 50 litres.
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Page 2, Answers to End-of-Chapter Questions
Page A-1, Answers to End-of-Chapter Questions
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